On Point 3, 2nd Ed. 	Unit 7		Name: __________________

I. Vocabulary
Choose the word or phrase that best completes the sentence. 
1. Police have _________ the building where the crime took place so that they can investigate.
a. released
b. offset
c. embraced
d. secured

2. Environmentalists want to close down all the __________ power plants, but others point out that they safely provide clean energy.
a. renewable
b. nuclear
c. radioactive
d. constant

3. Stanford University __________ 8,180 acres near San Francisco, California.
a. consigns
b. embraces
c. occupies
d. releases

4. Please remain in your seats for the __________ of the performance.
a. duration
b. chapter
c. coverage
d. dependence

5. New college graduates are beginning a whole new __________ of their lives.
a. meltdown
b. reliance
c. chapter
d. environment





II. Word Study

Choose the SYNONYM (=) or ANTONYM (<-->) for each word. 

6. Which of the following is a synonym for constant?
a. inappropriate
b. persistent
c. infinite
d. phony

7. Which of the following is a synonym for reliance?
a. dependence
b. influence
c. precedence
d. incidence

8. Which of the following is an antonym for occupy?
a. erode
b. conform
c. distribute
d. abandon

9. Which of the following is an antonym for unreliable?
a. demonstrable
b. trustworthy
c. voluntary
d. logical

10. Which of the following is an antonym for despite?
a. due to
b. prior to
c. in case of
d. instead of










III. Word Study

Fill in the blanks with the correct word. 

	hydropower
	consign
	renewable
	closure
	embrace



11. If there are clothes that you haven’t worn in a year or more, ___________________ them to the donation pile.

12. Companies are rewarded by the government if they use only ___________________ forms of energy such as solar and wind.

13. My sister is a tech whiz and is always quick to ___________________ new technology.

14. Since there have always been rivers, ___________________ is one of the oldest forms of energy used by people.

15. A sign announced that the ___________________ of the restaurant was scheduled for May 1.  


IV. Critical-Thinking Skills

Read the excerpt. Then match the causes to the effects. One effect will not be used.
	French residents are regularly reminded of the benefits of nuclear power every time their electricity bill arrives. At only $0.22 per kilowatt-hour in 2020, their electricity currently remains among the cheapest in the world. In Denmark, the cost is around $0.34, and in Germany, it is closer to $0.40; these countries still primarily rely on fossil fuels. The costs of fossil fuels are not only financial: the rate of worker deaths within the oil industry is 263 times higher than those in nuclear energy. Accidents like those at Chernobyl are alarming, but they are infrequent. A fitting comparison could be made with air travel—it seems risky, and when accidents do take place, they receive huge amounts of
coverage, but it is statistically far less dangerous than traveling by bus, car, boat, or train. In any case, to calm the public’s fears, France announced in 2012 that it would spend $13.2 billion on safety upgrades to its reactors and the sites they occupy.

	CAUSES
	EFFECTS

	16. ___ France does not rely on fossil fuels.
	a. France improves safety at its reactor sites.

	17. ___ French people have lower energy bills.
	b. France loses fewer workers to accidents.

	18. ___ France wants the public to embrace   
             nuclear power.
	c. Deaths among oil workers are decreasing.

	19. ___ There have been a few accidents at 
              nuclear plants.
	d. The French are aware of nuclear power’s advantages.

	
	e. The French public has become somewhat 
    nervous.



V. Cloze Test

Nuclear power: Is it a safe and clean source of energy or a disaster waiting to happen? Germany is one country that considers it the latter. Although serious nuclear accidents are rare, most Germans simply don’t want to live with the _____(20)_____ threat of a meltdown. Parts of the US—including its most populous state, California—are also _____(21)_____ their nuclear power plants. People there support clean energy sources that they consider less dangerous, such as solar arrays and _____(22)_____. France, on the other hand, has increased its _____(23)_____  on nuclear energy. The French government argues that it is safe and getting safer all the time. Nuclear plants are not built and operated the same way as in the 1980s when the Chernobyl disaster happened. In addition, the French point out, renewables like solar can be quite  _____(24)_____, since the sun isn’t always shining. 


	20.
	a. radioactive
b. phased out
c. unreliable
d. constant

	21.
	a. occupying
b. phasing out  
c. offsetting
d. embracing


	22.
	a. windfarms
b. barrels
c. projects
d. tsunamis

	23.
	a. environment
b. coverage
c. dependence
d. duration


	24.
	a. embraced
b. radioactive
c. unreliable
d. released

	
	

















Answer Key


	1
	2
	3
	4
	5

	d
	b
	c
	a
	c

	6
	7
	8
	9
	10

	b
	a
	d
	b
	a

	11
	12
	13
	14
	15

	consign
	renewable
	embrace
	hydropower
	closure

	16
	17
	18
	19
	20

	b
	d
	a
	e
	d

	21
	22
	23
	24
	

	b
	a
	c
	c
	



